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Q.1 Who was the founder of Indian National Congress?

NU@H&T@H%WN* I o 2

/

(a) HRTCHT Ted /Mahatmyandhi
(b) ST. . 3R aa/sw B. R. Ambedkar

_%) T, 3. =H/A. O/Hume
(d) s, HI. ssi1/W. C. Banerjee
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Q.2 In which city was the Indian National Congress founded?

/ﬂT{‘cﬁHﬂ\?ﬁH SHIUE ohl T fohd TR H g off 2

2
(a) TSTehIe/ Rajkot
/

(b) H=IH/ Madras /
/ (c) 6iﬁl"éc'/Bombay /

(d) shedehdT /Calcutta
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Q.3 Indian National Congress was founded by how many representatives?

/%ﬁﬂﬁﬁﬁ?ﬁ ST T TS Shillg ah! TATIHT ahl 175 off 2
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Q.4 Who was the first muslim president of INC?

ﬁﬁﬂ%%ﬁgﬁﬂﬂ@%ﬁaﬁ?ﬁ?

Y

A

(=N

</=ﬁ' ;Iaa— /

/ a) Mohammed Ali Jinnah
b) Abdul Kalam Azad

&) [ Badaruddin Tayyabii)

/ d) Shah Wali-ullah

™~ —_—
S AT P
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Q.5 In which year was the Morley-Minto Reforms passed?

/ﬂﬁ-ﬁﬁgﬁr{%&raéﬁmgfaﬂm?

Douide 2 Rle. ¥

/ (a) 1917
( \
e ’ 503 y

(d) 1912
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Q.6 Who was the President of the 19th session of the Indian National Congress?

WU@H FHITF o 199 T oh TETET i 42

/

(a) YT | IIECTY /Gopal Kgishna Gokhale

(b) WX 2T i /Sir enry cotton

// @ (cfllvl e ﬂal Mohan Ghosh

@) {jj\isH 191 Ss11/Surendranath Banerjee
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Q.7 Indian National Congress split for the first time 1n its session at:

TR TSERT SH BT e TSI Sweh el o a8 g 2

_ —
=

L lq 4
(a) Allahabad / 112G
(b) Calcutta/ OhQ'IOhy/

@ (c) Surat / §{d /

/ (d) Lahore/FlTéﬁ'{
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Q.8 In which agreement did good relations between the two groups of the Indian
National Congress, the 'Extremists' and the 'Moderates' take place?

e T i 6 3 e, TR e i T e i s e e ania i

CEW
v

€) -3 W/ Gandhi-Irwin Pact
(b) TAETH uﬂsﬁﬁ}/ Lucknow Pact

/ © W%ﬁwaﬁi/ Karachi Pact

@) ATER =TT/ Lahore Declaration
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Q. 9 When was the Indian national song 'Vande Mataram' sung for the first time on a
political occasion?

ﬁr{?ﬁﬁm‘@ﬁﬂﬁ 'S HIAH' Ygell SR TRl TsTifdeh STa@ R kel TTTAT T1RAT T 2

o

/@f}‘ 1896 INC Session / ST TS shilE :ﬂﬁqé@q}s%
(b) 1900 INC Session / W TS i STRETH, 1900
(¢) 1911 INC Session / TR TS HiTE AN, 1911
(d) 1903 INC Session / T TS hiTid aﬁé&r‘r{ 1903
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Q.10 Who among the following was elected as the President of the Indian

P onal Congress 1n the years 1938 and 1939?
@ (1939 % Ter®l TS TSR il oh STEAE] o &9 H T T AT 2

/

/ a) Subhash Chandra Bose / 1;33[‘13|Tl3f <% |9
(b) C. Rajagopalachari/ Uéﬁ.vyﬂ*l\lq [T
(c) Annie Besant / T d8e /

(d) Rajendra Prasad / S ERSE [
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Q.11 Which of the following Indian national political party 1s the oldest party
established in 1885 AD and has faced splits many times?
fmitcfad 8 € hiH-a1 Wit i TSt e 1885 3. H wiid wed gue &

2 3T ST g IR TSI i1 91HHT foRaT 27

e

(a) YA ] (2 Tt - ATedaTet (CPI-M)/Communist Party of
India - Marxist (CPI-M) /

b) YRAR T Cape (INC)/ Indian National Congress (INC)
(c) U] Y gt (NCP)/Nationalist Congress Party (NCP)
OERSEREIERIC] (BSP)‘/Bahujan Samaj Party (BSP)
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Q.12 At which among the following places, Indian National Congress adopted the
resolution of ‘Poorna Swara;’?

/it 5 6 fohe T TR T TS i 0T TS T b ST A7

c) Delhi
d) Karachi

a) Calcutta /
oo
/
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Q.13 The 1896 session of Indian National Congress 1s best known for which among

the following?

A Tt i T 1896 1 AT freffiad # & e fore gt vt
22

a) India’s national song was sung for the first

/ time/Sd AT TS T YSei [ ST T AT AT
National Song ’K India’s national anthem was sung for the first

(“Vande Mat;ra@ time/MTd hT TSI YT ST AT 1T AT
su@or the first /c)

India’s tricolor flag was hoisted for the first
time/ T 3T TN SIST Y=l S LT T=T o

/ d) None of the above/3TH ¥ ahl5 ff &

time.
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Q.14 In which year and at which place, India’s national anthem was sung for the first
time?
T T ST T ST foh oI SR ot Tty R 17T 77T o?

a)\ 1911, Calcutta
/Jana Gana Mana’/sung for / b) 1912, Lucknow
i / ¢) 1913, Delhi

the first time.
/d) 1914, Bombay
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Q.15 Which among the following was the ONLY session of Indian National Congress
that was presided by Mahatma Gandhi?

T 9 AT YR TS hilld T TohHTA ST o7 ToTeehl STeeqdn
TRTcHT et 7 aht ft?

a) Amaravati /
P4 b) | Belgaum /

C) Nag-[jur /
d) Karachi
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Q.16 Which of the following 1s the highest mountain peak of the Himalayas in

/ndia?

HfTigd 4 |

7 bl G Sell g d =et 27

Lo
/ (a) ATSE T2/ Mt. Everest
/ (b) ‘ohtHvll |7/Kanchenjunga

(c) el /Nanga Parbat
% (d) ier gt /Nanda Devi
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Q.17 Which of the following are young-fold mountains?

Wﬁﬁ -4 FaT aleTd Foid 87

(a) 3WEcil/The Aravalis
(b) AR/ The Nilgiris
(c}ml“he Himalayas

(d) wﬁ//The Sahyadri

ANNQN
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Q.18 The Himalayas are formed of parallel fold ranges of which the oldest range 1s-

/%mWHHHid{ g AT & o7 & S & T qu St 2 -

L /(A) [TaTfeteh &1/ The Shivalik Range

\ / (B) T eHTad/ The Lesser Himalayas

(C)(;ld AT &f (The Great Himalayan Range

é DEISIPEES /Th\e Dhauladhar Range
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Q.19 Which of the following physiographic divisions of India was formed out of
accumulations in the Tethys geosyncline?
/e = et 5 8 i A i e <o it 3 G |
[T IT?

/ ajff\%'ﬁﬁc_'l'i7The Himalayas

/ (b) 3T TS /Northern Plains

/ ©) YR {0 /The Indian Desert
/ @) TR H oh\lg Tal /None of the above
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Q.20 The Himalayas consist of three parallel ranges in its longitudinal extent.
Which of the following is the name of the northern-most range?

T 0T e €T H i S S € e s el g d 9

e 34 it 7 919 hI9 91 22

R S
- /a) RATSl/ The P}irmadri

) I%HItlel/T%Himachal
(c) félom'zqoh@xe Shivaliks
) qgl'f%lﬁ/ The Purvanchal

M
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Q.21 Which of the following mountain range extends to India, Pakistan and China?

/ frfefiaa 8 & @ ot oda s wRa, wieT S =i e el 7 27

/ (a) 3El/ Aravali

(b)] T U—|7/ Karakoram
? (c) Frafirt/Nilgiris

/ (d) 9dYsl/ Satpura
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Q.22 K-2, the world's second highest mountain peak, 1s located on which of the

following mountain ranges?

-

R shT Rl FelTeer geid =i, K-2,

oTfad o o fohe qad sfaar T ferd 22

(a) 9 USTTeT/ Pir Panjal

(c) €€/ Ladakh

/ (b)WKarakoram
%

d) SIT&hY/ Zaskar
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Q.23 In which state 1s the Nanda Devi peak located?

_ART el =it o s | ferd &2

//—*

/ (2) Himachal Pradesh/ feqm=ret g2

/ (b) Uttar Pradesh/3T% 9231
/(c)[Uttarakhan d) STEE

/ © Slkklm/]%ﬁ%%l?




Lo TIB E T

2 Mount

Z N EvPA ‘Everest

e s < k/ ,L:.f}}
R

g s




GS Marathon

Q.24 The mountain range which divides the Northand the South India 1s -
/?HT 3R 30T 9T SRl -] Teld el Y2 hid] a7

(a) Himalayas / IREISE

// (b) Western Ghats / 9T&H! =1e
o

(C)[Vindhyas / @
(d) Satpura / GdYST
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Q.25 Which of the following is the oldest mountain range?
/ﬁHRﬂﬁqq T e U 9ed HET - 8 2

(a) Satpura/"Hdqsl

? (b)l Aravali/ j

© Hlmalaya/ [eHITY

d) Nilgiri /AR
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Q.26 Which of the following is a peninsular river?

Wﬁﬁﬁ-ﬁ@mﬁaﬁ%?
— 7

(a)’ Narmada / THaT >/
S

(b) Indus /&%

/,
é c) Ganga /T //
=

(d) Brahmaputra / Sl-T9
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o JHST TSI &35 <hl Gord SISt 3T UfSH § J8 aTc]
Tt & SN fared (IWY) AR waust & (3fern) o s
Teh YT 91ET U Bl d8d] & U 350 AT T |
Tk o UTE Hehldd Uil ¥ BT & I shr AT
STLEHTET YaTe eI Afe &Y faemsard 2

®* The Narmada 1s the largest and west-flowing river

in the peninsular region, flowing through a rift
valley between the Vindhyas (north) and the
Satpura Range (south). It originates from Maikal
range near Amarkantak in Madhya Pradesh. Non-
perennial flow of water is the characteristic of
peninsular rivers.
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Q.27 Between which mountain ranges 1s the Narmada Valley situated?

/e end {oh el ot < o e @ 2

(2) Bhander and Maikal/ et 3TR HerTel
/ (b) Satpura and Aravalli/HdqsT 3R ATSA
?{c)}gatpura and Vindhyachal{/ﬂﬂg@ 3R T

/(d) Vindhyachal and Aravalli/ Toeam=et 3 STt
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e JHaT qal AT UTYH I 3T J&1F hl HNU]
49T g1l @ TRt JaTied BT 8| THeT <)
foier o7 wageT & o= =& =

® The reason for the westward flow of

Narmada river 1s to flow through the
fault wvalley. Narmada river flows
between Vindhya and Satpura.
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Q.28 Which one of the following does not form a river delta?

mﬁﬁﬁ?—ﬁwﬁém CARER IR I RE G

e
(a) Mahanadi/ HEHar

(b) Godavari/? IEEEL

) Narmadaﬂ%
? (d)) Kaveri/amadl
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* THST Fdl U HEM W Sl ol HHIUT T8l Hidl &l THR T
FROT © Tor 98 Uk 3791 TSt U BIRt JaTRd it ©, 93 9 Jaed

21 % ST 3GY 1T T 39S &l 2

®* The Narmada river does not form a delta at its mouth. The
main reason for this is that it flows through a part of the
valley, due to its flow through the fault, there is a lack of silt
in 1t.

o I hl UTH shi A & 1] IfeaT S9- THeT, dTHT, U 3Te
ST T I 7 ek ST (Estuary) 3T fHHT0T Lt &

* Rivers flowing towards the west of India such as Narmada,
Tapti, Pertyar etc. do not form delta but form Estuary.
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Q.29 Which of the following river flows in the rift valley?
/reifefad #§ & - 7€ fergier ot F wanfea S R 2

(a) Kaveri/amadl

/ (b) Rihand/ &g
% (c) Yamuna/JgT
/ ) lTapti/aTsﬁ D
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o AT AT forgwr =t ° waTtRd BT 81 I TS HET Yo
o oqa ool § gager i urifedr ¥ fepatd! @1 ardt
ST We 9aw, TS ST HERTSg H foeqd 21 I e
qfm T AR F8d TC ST AFR H Rt 21 39
e THer It oft forysr =t ° yenfEd gidt =

®* The Tapti river flows in the rift valley. This river

originates from the Satpura hills mn the Betul
district of Madhya Pradesh. The Tapti Basin 1is
spread over Madhya Pradesh, Gujarat and
Maharashtra. This river flows west and falls into
the Arabian Sea. Apart from this, the Narmada
river also flows in the rift valley.
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Q.30 Which river originates from Amarkantak?

/éw{o'hdoh JH-H T FT13eq are 2

(a) Damodar/ ST \é

(b) Mahanadi/ggHar

(c) \Narmada /
) Taptl/?mﬁ
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* e al (Narmada River) HEJ TS [
AUEheeh RISl § THehaToht U8 ahi 3R
1312 TrHl. Ses § YaTied Bl g3 3@
"I & ¥l <hl WISt H &g | fieT STt 2

® Narmada  River  originates  from
Amarkantak hill in Madhya Pradesh and
moves towards west for 1312 km.

Flowing 1n length, it joins the Arabian
Sea 1n the Gulf of Cambay.
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Q.31 Rivers flowing westward are-
ST <hT ST JaTed B aTedt AT @-
(i) Narmada/ THaT (ii) Tapti/aTt (iii) Rapti/ Tr€T
—— o —

Code/?mc\'_d.’ :
/(| i
/(v) (i) ¥ (it
/(0) (i) (iii)

7 (d) (i), (i) T (i)
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o g H uiyw fosm # yarea a9 aret o4
S A{ei-THaT, dTHt ST ATET &1 T, STeR
I TE 4l B, S S-UHH ¥ feor-gd
fosm ¥ yenfea Bl 21

® There are three major west flowing rivers
in India - Narmada, Tapti and Mahi. The
Rapti, a tributary of the Ghaghra, flows in

a north-west to south-east direction.
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Q.32 In the context of agricultural costs in India, what 1s MSP?

/ﬂmﬁﬁ AT ok Hedl § MSP &7 27

S

NOO o

(a) Model Stability Product / AT \;wu 2t grede

(b) Midterm Supply Plan / et awTs v
< <A
(¢) Maximum Selling Price /AeEHH GfcAT 9180

A4) Minimum Support Price /fH=ag fﬂﬂé NIELS
(4
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* YA H $IY AN s §a¥ § MSP o1 dTcdd
Minimum Support Price (FfFmm @R

I1sd) T

* In the context of agricultural cost in India,

MSP stands for Minimum Support Price.
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Q.33 India has engaged actively in the multilateral negotiations in the UNFCCC.
What 1s the full form of UNFCCC?
/AT ¥ UNFCCC & wrgmefiar aatait 3 wf3far & & s R 21 UNFCCC <1 901

&9 7 2IdT 272

(a) United Nations Fellowship Convention on Climate
/ Change/IAT3ES A28 hellIRTT Sheai¥ A FATGHE oIS

(b) United Nations Framework of Central Climate
/ Change/JAT3ES %8 ShHeTeh HATh Hgel FATSHE IS

/ (c) United Nations Fellowship of Central Climate
hange/IATEEE I HANRY Hh HZA FATZHE =S

—
(d) United Nations Framework Convention on Climate

Change/gATEIE F31-H hHeh Heal ¥ 3T FelTgHe =
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* UNFCCC T YUi&Y eHls,ds I A
FaI[ AW FARHS IS (United Nations
Framework Convention on Climate Change) 2l

® The full form of UNFCCC 1s 'United Nations
Framework Convention on Climate Change'.
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Q.34 Which curve shows the inverse relationship between unemployment and
inflation rate?

/?slﬁ‘-[-w Ioh USRI SR GSTEhIT 3T ok Hee 3hl TidarHa: ST 2

(a) Supply curve/qcﬁ a?/

(b) Indifference curve/ 31;7&4%1 Jdsh

(c) IS curve/3ATSTH Ik
ﬂd)]/ hillips curve EED




GS Marathon

o O

* T ooy, [hUTH o SAER Fhifd shi & qer
SUSTTRY <Al & o s Ueh el Heier 9T ST 2|
fhleTed g1 39 GeT ohl YSi3Td i o fo1u IS/ sk
I fqurfed forar mar, 39 fhiced sF a2
o a : A o Vo
[ChfeTod sk SRUTIcHeh @11 <hl o4 § 20 = iRt

g BIdl 8l

* According to A. W. Phillips, there 1s an inverse
relationship between the rate of inflation and the

rate of unemployment. The curve drawn by
Phillips to show this relationship 1s called
Phillips curve. A Phillips curve has a negative
slope descending from left to right.
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Q.35 In the Indian economy, on what basis are the sectors classified into public and
private?

/ﬁr{‘cﬁ??a?@jwal:mﬁ, &A1 hl ATesT(oh T THSi H TehE STTYT U arfiehd TohaT SITT &7

c

/ (a) éﬁfﬁ W& II(J\-Icol/lOwnership of undertakings

) sho<l "I ohT JIIT/Use of raw material

__~(c) AT ﬂﬁlﬁﬁ?ﬁﬁﬂ%ﬁf/N ature of economic

activities
\ o o .
(d) ST :ﬁﬁRIT/Employment policies
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o YA ITTTET H Hrasioh qr ST & vt
STTRTUT 'SUSHAT T TTTHCca' oh ST YT ToRaT STTdT

2 YR srdeesey ue fufya srdegyaer 2,
e s quT st &5 o1 ge-3 1 2

* The classification of public and private sectors

in the Indian economy 1s done on the basis of
'ownership of enterprises'. The Indian economy
1S a mixed economy, in which public and
private sectors co-exist.



GS Marathon

Q.36 Disguised unemployment in India is mainly related to-

ﬁmﬁ@ﬁaﬁm T &9 4 fohe &g 6 & 2

‘//@f) Agriculture sector / &Y &=
/ (b) Rural Area/HTHI0T &3

? (a) Factory sector/haell &=
_—

(d) Urban Area / 1= &
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* YII: Y H IcUTe AN &R Rl

I &

T fSa A Y STavgeRdr 2t @, 399
3T TANT Y W TN T&d &l I TH AT BId &,
ST aIfe SRl &= | sITet o foam SiTe, af iy 9

STH el 3cq1e H shis HHT ol g1

I H df 7 &d & oifeh 91%ad |

T I 2@ |

TSR | &

=Id &, Fifh 3k o1 hT HHid ScaTaehar I

T | ST UH oW & T=s AT JAT TS

SUSTTIRT hed &1 WA Y &
fafer 3 it gaE =)

(Y N\
nl 4o sl
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® Often, more people are engaged in agriculture
than are needed to achieve the optimum level of
production in agriculture. These are the people
who, 1f taken out of the agriculture sector,
would not reduce the total output from
agriculture. By seeing this, they are engaged in
labor but 1n reality they are not in employment,
because the marginal productivity of their labor
1s zero. Therefore, such labor 1s called disguised
or hidden unemployment. This 1s the most
strange and serious problem of the Indian
agriculture sector.
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Q.37 Which of the following 1s done at a Stock Exchange?
/Ld‘ioh UG=IST U 395 § T Bl & 2

(a) Commodities are bought and sold at wholesale

price/ &Teh X T SEqE G SR o= STt &

) Commodities are bought and sold at retail price /
GEU & I TEIC TR 3R =i STt 2

//(c) Securities are bought and sold / Tfer¥fci Efe]
3 S=f ATt B

~ (d) None of these / 315 ¥ &5 g1
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* Lok WoESST Ueh YR ol EITSd SIS 8
SEl g TR, ST HIhR, HrasiHeh
HEATHAT, WYh ik huial g i
ST § SATIR SRa- sk BT o

* Stock Exchange 1s a type of organized

market where trading i1s done in
securities 1ssued by the Central
Government, State Government, Public
Institutions, Joint Stock Companies.
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Q.38 When the demand for a goods increases with an increase in income, such a
goodsis called =

/mﬁaﬁ%m%&%maﬁmﬁa@ﬁ% T UEHT ] o T hed & 2

/ (a) [Superior goods / 3chE axd
/ (b) Giffen goodsfﬁ'ﬂ"&l’ﬁ'ﬂ EA
/ (e) Inferior goods / I-1<>|':Er IE]

e (d) Normal goods / |THTT &
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* UHT S%q ISTEeh! Wi, 3T e o |-
STl ST, "3cchg ol%gl@ (Superior Goods)
FEATT 2|

* A good whose demand increases with the
increase in income 1s called a "superior

good".
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Q.39 If cash reserve ratio decreases, credit creation will

/afe TRt ST FUT T 2, dl kol b1 T R

(a)‘ increase%@?ﬂ 2

// (b)‘decrease o rers I
/ (¢) does not change / g INaT Tai aidl
/
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* WA ST sfeh STi<Ia sfohl sl 37eh HYUI STHT Sl
( TRT STHT 9T 99 ST ) T Ush (i 373 9he &9 H
fSTdl ok o UTH WEAT 1T 2, ST Ueh JeTieeh Afamridr 37X
Sf%h! T STET 2 Fa 1Y AT (CRR) i X ot &
St BRI, SRl o UTE 3T & W Aehg Y SUT o aT

N O
ARG G o [eTC ST T Tha 1T I (CRR) 3T &
T &t hH BT, siehl UTE 3T &1 T¢Ik ehe 3T YT o

AT |G Gl ok {oTT EATI
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® Reserve Bank of India Scheduled banks have to keep a
specified portion of their entire deposit hability
(demand deposits and time deposits) with the Reserve
Bank 1n cash, which 1s a statutory requirement and
binding on the banks. The higher the cash reserve ratio
(CRR) rate, the less cash balances with the banks for
lending and credit creation and the lower the cash
reserve ratio (CRR) rate, the more cash balances with
the banks. Will be for lending and credit creation.
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Q.40 What 1s the emigration of a significant proportion of a country's highly
skilled, highly educated professional population to other countries offering better
economic and social opportunities called?/

_/ferE 31 oAl ST Treh HRTeA, I X187 URISR SATSITET o Teh g W 3hT Sigal 3HTiieh
ST HTHTISTeh SO o foTT UL Q21T H JeTel o7 shgedTell & 2

(a) Closed population/ g 31|®||d“/’
e (b)] Brain drairﬁﬁl‘m ENIBET /

(c) Demographic transition/SIH4d i?ﬂq LSERE)

(d) Carrying capacity/dg- &Hdl
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o T eI f¥rfera SNt gfammredt safxmai o STUHT 291 B dadt
giorerAl o fof g 9x1 S o foRl FEaHTeT foham ST ATett 31se 2
STRIT T & R AT forg 9 | 18 1@ YaTe YT |yar <l
T & AT 70 S S g T S 21 i wify 3 ey i
WRA forg o JoH T T 2| I8 {HIH 9T o dohd = 318 (GDP)
T T 3.5% 2

®* Brain drain 1s the term used for educated and talented people
leaving their country to go to another country for better facilities.
India benefits from brain drain Nearly $ 70 billion is received in
remittances from the overseas Indian community living around the
world. India ranks first in the world mn terms of receiving

remittances. This remittance 1s about 3.5% of India's Gross
Domestic Product (GDP).
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Q.41 Pollination by birds 1s called :
/\Jﬁﬁmw (Pollination) =hT TsHaT okl AT el ST & 2

~ /
(a) Autogamy/3TeHHT /

/b) Ornithophily/3fTHer et
7

(¢) Anemophily/ Qﬁ'ﬁﬁﬁ'ﬁﬁ/

) Entomophily/@?ﬁ'lﬁﬁ%ﬁ
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o QAT gRT IXATOT (Pollination) hl SIEDIRED
TNt et ST 2|

* The process of pollination by birds 1s called

orniophily.
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Q.42 Which of the following is also called 'Green Algae’?

/ﬁﬂﬁﬁﬁ%ﬁ i QaTer Hi ST ST 22

—

(a) Phaeophyceae / IERIRAEL
4(1)) Porphyridium / GifhRisam
/(c) l Chlorophycem

I
/Qd) Rhodophyceae / USIHTgH]
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* FANHISH! T IATAT T Th ST Ta Heeaqul
TR 2| TH FARIGA a TF b THE v
Jufterd Bid 2, fSTeeh ShIRuT ekt TT 24 BidT
2| 39 G o UM HeE NS,
STAaTeR, JATTIE, TATSRTRAT MG &

® Chlorophyceae 1s a large and important

group of green algae. Chlorophyll a and b
are the main pigments present in 1t, due to
which their color i1s 'green'. Common
members of  this group are
Chlamydomonas, @ Volvax,  Ulothrix,
Spirogyra etc.
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Q.43 Name the tissue that transports various parts of a plant.
/ﬁ?endoh ST ATH 1T, ST fordl] e = %ﬁ?ﬂ?ﬁﬁ@édldl 2l

A E

0

y@ o [Floem 790

(b) Xylem / STTgeTH
/ ©) Parenchyma/as{rﬁfﬂm

/(d) Sclerenchyma/Taeii-enTgHI
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* e o [N~ W ek WIS Y5 ATt Sdieh
H TATH hEd & AATd FATA Teoh HeagH]
Sd% (Vascular Tissue) €, S 9T gRT
TRIT GoIHT TohaT o IRUMARaET WIS

gt o T AT o 98T ol 1l ST &

®* The tissue that carries food to different
parts of the plant 1s called 'phloem’, that is,
phloem 1s a vascular tissue, which works to
transport food to different parts of the plant
as a result of photosynthesis by the leaves.




GS Marathon

Q.44 When an ant bites, which acid is released?

A% < et 2, oY e a1t T @ 2T 29

4

(a) Hydrochloric acid/ slsg\lorcfl\l eh 3T

/ ) ‘Formima@?
(c) Acetic acidmm /

(d) Phosphoric acid/HTERITE 3TFA
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* Biffieh TF N6 HeAIS® 37 (HCOOH) off
FEd &l TS Ueh Hlei-eh Ik &, ST JTehidsh &Y
q e =TT, HeHiReT, o qem s o Sohi
T 97T ST g ohig diel (vt ATt <fieh) St
o YRl 8, df g Siod 819 o't 81 I8 ST

ifHeh 3TFT o ShIUT &1 BidT 2|

® Formic acid, also known as methanoic acid

(HCOOH). It 1s an organic compound found
naturally in the stings of red ants, bees,
scorpions and barbs. When an ant (especially

a red ant) stings, there is a burning sensation.
This burning 1s due to formic acid only.
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Q.45 Bee sting contains

_ AEedl <h Sk H A1 €T 2

TG o Soh H STFATd T

YT SITAT 2. ST $ifHeh 3t 9 ( ~
N %?, /(a) An ac1d1c1 liquid/ | i
ST gl

/(b) a salt solution/ Wﬂq
lqu,ld, which is made up of (C) an alkaline th.ld / 8\:||((|€| alcd

Bee sting contains an acidic

formic acid. / (d) a corrosive liquid/ F&eh
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Q.46 70% of energy needs should be met by
/enwﬁ, ST T 70% ECUCRIE RIS ISIIS]

_/(a) Amino acid/THHT 37

(b) Fay/sr
&/(c) Lipid/feiius

N

\/(d) Carbohydrates 'ohlal\(I\8|$§dKH

/
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N N O ~ N (N N
® ™Y Qlﬂ( h [ anldltleSc ISl oh HicY Hld
9 A D

ST ST 70% STl STTareehal sl qfd i ol

® Carbohydrates are the main source of energy

for the human body, meeting about 70% of
the energy requirement.
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Q.47 Name the enzyme in the human body, which helps in breaking down

carbohydrates.
/ﬁ'\'-!??l’fl’(ﬁ 39 USITEH & 11 SIdT4, ST ShS-I5S< ol died § HEg T ol

/ (a) Protease/ SRS

(b) Lipase /ferare
// (c) Peptidase S|

/(d) L'Agylagé/’w FRED)
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* H{E H U foRAT h SR HiSIEEge
foRge i aTell Usied (Enzyme) THISS
(Amylase) &1

®* Amylase 1s the enzyme that breaks down
carbohydrates during digestion in humans.
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Q.48 Pneumonia 1s a bacterial disease caused by the type of bacteria called

/‘ﬁ‘—v-méazﬁfwﬁnﬁﬁmﬁﬁwww%?
T

(2) Bacilli / ST&feT

(b) Goccﬂ EFE@

(c) Sprllh
(d) Vibrio/fafsmn

\\\\
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o = (Pneumonia) ththe R Ueh UTT 2| IS
T TR AT ATH hihTs AT hichd
(Coccus) TvﬂaTUl ST BT gl 398 U i 38

TR @R 3ATAT 2

®* Pneumomnia 1s a disease of the lungs. This
disease 1s caused by a cocci or coccus
bacterium called Streptococcus
pneumoniae. In this, the patient gets fever
with chills.
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Q.49 Urea, commonly used fertilizer, is prepared by the reaction between ammonia

and . /AT SHTHAR UL SEHTA ToRaT ST ATAT TS IS SATETRA IoiTh €, S
i i 3 offer T St gRT S F s 3

(a) Hydrogen /TTEEISH
/ (b) Oxygen / 3TTFHISH

(c) Carbon dioxid@om@?«l SEATTIEE

l
/(d) Sulphur / dc®H
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* AT HATHAR T FETHTS ToRAT ST FTAT ATSEISH SATLTT Ioieeh =, ST
ITHIHAT 3R HTe SEIATFTEES o st YU ATHIRAT FRT dIR
feparm st 2| e Tt w3 (NH,), CO FraT 3| Felfier T
N ¢ _ N\ \ ¢ e . <o N N
& T 39 hleurge ot HeT AT 2l I8 Tk TTEH, TEH T%he TER
STediedT 31 yerd B I o 3ifq foo 31 I% TaurRht ok wdigy
STOTAT o H H 9T Sl &

® Urea 1s a commonly used nitrogen-based fertilizer, produced by a

chemical reaction between ammonia and carbon dioxide. Its
chemical formula is (NH,),CO. In the field of organic chemistry,
1t 1s also called carbamide. It 1s a colourless, odorless white
resinous toxic solid. This water 1s very soluble. It 1s found in the
urine of mammals and reptiles.
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Q.50 Which of the following laws deduces the expression for the force between
two stationary point charges in vacuum or free space?

U @ whIF @ fram et o1 ook T o & feer foig mae o sfter 5 %

(@ . N\
[T STk ol SFcd~ LT © 2

/ (a) Lenz's Law ISESEARERE]
/ (b) Ohm's Law/3TH =1 99

/ (c) Gauss' Law/TTd &bl (HaH
() [Coulombs Laweeiia a1 fam
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'W—ﬁ'ﬂﬁ (coulomb's law) %E\Jff TN o sl o Tl TR
g oIt o S H Th = & IS Shetvel (™) ATHeh Shid el
ST = 1780 o ¥1eh | fcrdried foham oMl geh SIFER “af foirg
SHTASMT o siT<l A Tl [T foreld siet 31 |19 39 1 SAeR0 h
MU o HHIATAT BIAT & qT 37 SATER0 6 oft<l sht g o a1 o

a e b)
W

SICHHATIITAT BIT 2 | @@
78

®* Coulomb's law 1s a law about the electrostatic force between
electric charges, formulated by the French scientist Coulomb 1n
the 1780s. According to them, “The electrostatic force acting
between two point charges is proportional to the product of the
two charges and inversely proportional to the square of the
distance between those charges.
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Q.51 Which of the following elements iuitable for the fabrication of a light
emitting diode structure?/

ﬁ‘l—tﬁdﬁqq H U i 9T ded JhTT Scsich SRS ST o HHI0T o fau dqqm@??

O

(2) Indium gallium nitride / SfSI® Tferad

SIS
/ (b) | Germanium / ST ﬁ@

(¢) Gallium phosphide/TfeTaT BEHTES
(d) Gallium arsenide/ T ATEATES
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* LED (JohI3T 3cHsich SM1€) Ueh PN SR IYHLUT 8, ST Teh1ST &
3cOsi AT 2| Tuisa = ey 31|H-1|$S BIERES
v i @ % LED a4 & o fomam smar 21 aferaw
BITHIES, SSTH NATH 1528 3R Aoy IS ol UM

¢ RN NN o o

TehTYT Scesieh S & ator & fordr foram STmaT 21 Jrasw & T
e ¢ 2 . 2\ N O o

STHIEH TehTST Scersieh SIATS GTAT o THHI0T o ol SUIh el € |

* LED (Light Emitting Diode) is a PN junction device, which
emits light. The compound semiconductor gallium arsenide
phosphide 1s used to make LEDs of various colors. Gallium
phosphide, indium gallium nitride and gallium arsenide are
used for the manufacture of light emitting diodes. It 1s known
that germanium 1s not suitable for the manufacture of light-
emitting diode structures.
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Q.52 Which of the following is an indigenous dairy breed of cattle?/
ﬁﬂﬁﬁﬁ?lﬁﬁ&:ﬁ 2 ITAT T Y Teh <Xt A& 27

(a) Kanni/ il
/ ©) Chippiparifi%l‘il?lgﬂT(l‘ﬁr

P (c)[ Red Sindhijerret e
/(d) Kombai@lk_@ﬂé
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o et TEeft TR ger & aireft Ueh ot et B e fHelt T urferta
o T8er Ui § 3cq= T {1 STt 31 39 L€ R, foeft ST Al &6
AT & STET ST 21 I8 HEIH 4TS hl 2idl 2| T I, fow =ter,
B¢ T A1 |, Tl 4, BT 2 IR = el Bt 21 I8 T
Sfel =i § HTEaT 1600 et g8 <t &)

® Red Sindhi cow is an indigenous breed giving milk. Red Sindhi
cow 1s believed to be a breed originated in the Sindh province
of Pakistan. It 1s also known as Red Karachi, Sindhi and Mahia.
It 1s of medium height. Healthy body, broad head, short and
thick horns, long tail, short legs and loose skin. This cow gives
an average of 1600 liters of milk per lactation.
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(?}3 Which of the following 1s NOT an application software?

Ja) Adobe Photoshop

\/(c) MS Word
_~(d) Avast Antivirus
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Q.54 A person 1s called computer literate if he/she 1s just able to

/

(a)| Run need-based applications
/ —

(b) Create anti-virus software

/ (c) Write programs

/ (d) Hack other computer



GS Marathon

Q.55 Hard disk in a computer is
/

——

/ (a) Temporary magnetic storage

/(b)G’ermanent magnetic stor@

/(c) High capacity optical disk
storage

/(d) High capacity CDROM
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Q.56 The process of starting an operating system when the user turns on a computer
1s known as :

(a) Starting
? (b) Loadmg

Fgaums
/ ) Turn On
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Q.57 Windows 10 1s a/an:

-

(a) booting system
/ ) operating and booting system

%) operating system

/ (d) counting pulse
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Qy MS Word is an example of

\v

(a) An operating system
/ (b) A processing device

/ (c) (Application soft@
;(d) An Input device
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Q.59 Workbook, in a computer application, 1s basically related to

5 L

/ (a) MS Excel >

(b) Adobe Reader
(c) MS Power Point
/(d) MS Word
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Q.60 Which 1s the correct full form of TCP?

—

(a) Transmission Communication
/ Protocol

/ (b) Transmission Control protocol

/(c) Transmission Computer

- Protocol

(d) Transfer Control Port



